Anatomy and Physiology

14. (a) A player is kicking a ball using his right foot. Describe how EACH of'the following parts
of the skeletal system supports the lower body during this movement.

(1) Femur
(i) Pelvic girdle ( 4 marks)
) Describe FOUR effects of exercise on the skeletal system. ( 8 marks)

Total 12 marks

Fitness and Performance

15. (a) (1) The training year is divided into THREE seasons or periods. Name EACH of the
THREE seasons or periods. ( 3 marks)

(i) Forany ONE of the seasons or periods named in (a) (1) above, outline the activities

that are done by an athlete. ( 4 marks)

(b) A trained individual is in a better state of physical fitness than a person whose lifestyle is

inactive. State FIVE characteristics of the trained individual.
( 5 marks)

Total 12 marks
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Physical Education and Sport
Paper 01 — May 2011

Comments

Question 14 (a):

The candidate showed some general understanding, although not accurate, of the skeletal
system and its major role of support in the production of this movement.

Question 14 (b):

The description of benefits of exercise on the skeletal system is acceptable with the emphasis
on general strengthening. Full marks were received due to the wide range of effects offered.

Question 15 (a) (i):

The candidate identified three seasons for the full marks.

Question 15 (a) (ii):

This answer presents a satisfactory reflection of the narrowed focus on the specifics and
competition applications characteristics of the peak season.

Question 15 (b):

The listing of these specific characteristics shows a satisfactory recognition of the
characteristics of the trained individual.



